* 56

113 ”»

1 11.78 ¢

10.00 g

(e
A.80%

Na, CO,

C.86%
Na, CO,
m( Na,CO,) Na, CO, +2HCl ==2NaCl +
COo,T +H,0 CO, + Ca( OH) ,=—=CaCO, | +
H,0 “Na, CO, ~ CO, ~ CaCO,” 106 g
1100 g =m( Na,CO;) : 10.00 g m( Na, CO,)
=10. 60 g; Na, CO,

(10.60 g +11.78 g) x100% =90% » D.

2

B.83% D.90%

Sn +2HCl ==SnCl, +H, 1 FeCl,
SnCl, + 2FeCl,=—=
SnCl, + 2FeCl, K,Cr, 0,
Fe’” 6FeCl, +
K,Cr, 0, + 14HCl ==6FeCl, + 2KCl + 2CrCl, +
7H,0. 0.613 ¢
0.100 mol/L K,Cr,0, 16.0 mL.
( ) )
B.0.429 ¢

D.0.613 g

A.0.286 g
€.0.571 g
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211200

m( Sn) o
“Sn ~ SnCl, ~2FeCl,
119 g 1/3 mol =m( Sn) : 0. 100
m( Sn) =0.571 g.

~1/3K,Cr,0,”
mol /L x0. 0160 L

C.
3 ( CuCl) .
CuCl
CuCl 96.50% .
CuCl:

2CuSO, + Na,SO, +2NaCl + Na,CO,=—

2CuCl | +3Na,S0, +CO, 1
0.2500 g CuCl
0.5 mol/L FeCl,
20 mL 0. 1000 mol/L.  Ce( SO,),
24.60 mL Ce( SO,), o
Fe’* + CuCl==Fe’" + Cu’" +
Cl™ Ce'" +Fe’"=—=Fe’" +Ce’" .

CuCl o
CuCl m( CuCl) o
“CuCl ~ Fe**

~Cet” 99.5 g: 1 mol = m( CuCl) : 0. 1000
mol /L. x 24. 60 x 107° L m ( CuCl) =
0.2448 g.

CuCl (0.2448 ¢

+0.2500 g) x100% =97.92% >96.5%

CuCl o

4 100 g CaCO, 96 %
co,
NaOH Na, CO,
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( ) o

A.101.76 ¢ B.96.00 g
C.76.32 g D.50.88 g
Na, CO, m( Na,CO,) o

“CaCO, ~ CO, ~ Na,
100 g: 106 g =100 g x96% : m( Na,CO,)
m( Na,CO,) =101.76 g. A
5 200.0 mL 4.00 mol/L K, SO,

o,”

( ) ).

A.11.20 L B.14.00 L
C.17.92 L D.22.40 L
V(S0,) -

“K, S0, ~ BaSO, ~
SO,” 1 mol:22.4 L =4.00 mol/L x0.20 L:

V( S0,) V(S0,) =17.92 L. C,
6 :

e S0,; @S0,
S0,; 3S0, o FeS,

72% 75t 98 %
( FeS, 4%) ?

98 %

m( H,S0,) FeS, H,SO,

“FeS, ~2H,S0,” 120t: 2
x98t =75t x72% x (1 -4%) : m( H,S0,) x

98% m( H,S0,) =86.4 t.
98 % 86. 4t,
. ( )
( )
( )
7 9.2 ¢
Co, CO,
NaOH 100 mL 6. 00 mol /L
NaOH Na,CO; .
( ) o
A.19.56% B.39.13%

57
C.60.87% D.90.44%
m(C) .
c Co, CO, +2NaOH
=—=Na, CO, + H,0
“C ~ CO, ~2NaOH” 12 g:
2 mol =m( C) :6.00 mol/L x0.1 L m(C) =
3.6 go
(3.6 £+9.2 g) x100% =39.13% . B.
8 (0[0) 23.2 ¢
40 g
( ) o
A.FeO B.Fe,0, C.Fe,0, D.Fe,O,
Fe, O,

Fe, O, + nCO =—=mFe + nCO,
CO, CaCo,
“Fe, 0, ~nCO, ~nCaCO,”

(56m +16n) g:100n g =23.2 g:40 ¢ min=
3:4 Fe, 0,
Co
9 : KIO, +5KI +3H,S0,—3K,S0,

+31, +3H,0 I, +2Na,S,0,=—=2Nal + Na, S, O, .
( NaCl.KIO,)

I@ ag
;@
KI KIO, KI )
2.0x107°
mol/L. Na,S, 0, 20.0 mL o
« 1) (
mg/kg ) o
ag m(1) o
I KIO,

“I ~KIO, ~3I, ~6Na,S,0,” 127 g2 6 mol
=m(1):2.0x10 7’ mol/L x0.020 L m(1) =
8.47 x 10 *g.

_4 2
8.47 x 1;))( 1go>i3lli)g00 mg/g :8.47a><10 me/ke.
( 1)
8'47a><102mg/kgo
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